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" INSTRUCTIONS TO CANDIDATES
(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)

1. Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that

it contains all the pages in correct sequence and that no page/question is missing. In case of faulty

Question Booklet bring it to the notice of the Superintendent/Invigilatora immediately to obtain a
fresh Question Beoklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
unthaut its envelope.

3. A separate Answer Sheet is given. & should not be folded or mutilared. A second Answer Sheet shall
not be pronded, Only the Answer Sheet will be evaluated,

4. Write your Roll Number and Senai Number of the Answer Sheet by pen in the space provided above.

6. On the front page of the Anawer Bhaet, write by pen your Roll Number in the apace provided
ut the top, and by daricening the circles at the bottom. Aleo, wherever applicable, write the
Querstion Booklat Number and the Set Number i{n appropriate places.

6. No overwriting is allowet in the entries of Roll No., Question Booklet No. and Set No. (if any) on
OMR aheet and also Roll No. and OMR Sheet No. on the Question Booklet.

7. Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means.

8. Each question in thia Booklet is followed by four alternative answers. For each question, you are to
record the correct option or the Answer Sheet by darkening the appropriate circle in the correspanding
row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the first page
of the Answer Sheet.

9, For each question, darken only one circle on the Answer Sheet. [f you darken more than one circle
or darken a circle partially, the answer will be treated as incarect.

10. Note that the answer once fiiled in ink cannot be changed. If you do not wish to aftenipt a question,
leave all the circles in the corresponding row blank (such guestion will be awarded zern mark).

11. For rough work, use the inner back page of the title cover and the blank page at the end of this
Booldet.

12. Deposit only the OMR Answer Sheet at the end of the Test.
13. You are not permitted to leave the Examination Hall until the end of the Test.

18. if a candidate attempts to use any form of unfair means, he/she shall be liable to such punishment
as the University may determine and impose on him/her.
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14U/117/27/Set No. 1
No. of Questions /st & W : 150

Time /AW ; 2 Hours, 99 | Pall Marks/quhs ;: 450

Nots ; (1) ﬁmptaamanyqueatmnnuyoucan Eanhquuunn carrics 3 marks. One
mukmﬂbednductedfmcanhmwmtmm Zero mark will be asvarded
for each unattempted question.

Rl TE W W R W A | TR SR 3 I3 W ) YA e I ok
firg ww 3% T AN TRE AORT WE w1 TS PR W

(2) If more than onc alternative answers seem to be approximate to the correct
answer, choosc the cloaest one.

2 witE R o wl IR ¥ P wie @, & Rezaw aft s

(184) )
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14U /117 /27 /Set No. 1

Directions :  (Question No. 1-12) Read the passages given below and select the best option

t184)

from the four alternatives given below.
Passage—1

King Solomon was celebrated for his wisdom. The Queen of Sheba once paid a visit
to his court. She was very much impressed by his wealth and grandeur. She had also
heatd of his uncanny ability to solve the most difficult puzzles which she meant to
test. She showed Solomon two garlands of flowers, cne in the right-hand and the
other in the Jeft and asked which one was real. The courtiers were puzzled. Both the
garlands locked the same. Solomon could not say a word. The Queen felt triumphant.

Solomon soon ordered that the windows be opened. A number of bees flew into the
hall from the garden and settied on the garland in the right-hand.

“The flowers in the right-hand are real”, said Solomon. The Queen was greatly
impressed with his wisdom.
The Queen intended to test Solomon’s
{1] logic and speed
(2) aspontaneity and acumen
(3) intclligenee and skill
[4) calculating and thinking abilities

“Solomon could not say a word.” This indicates that he was

(1} confused {2] thoughtful (3) angry (4] mcared
“The Queen felt trinmphant. This indicates that ghe wanted to Solomon,
(1} confuac {2) humiliate (3] embarrass (4) overpower

The last sentence indicates that the Queen

(1) bad to accept defeat at the hands of Solomon

(2] feit that all her efforts to fool Solomon had gone waste
(3) admitted that Solomon was indeed wise

4 was jealous of Sclomon for being so wise

2
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14U/ 117/27/Set No. 1

5. in the end, the Queen’s apprehensione wers

(1} justified (2) confirmed (3) proved (4) falsified

6. Solomon could have identified the garlands by touching them or smelling them hitnself.
But doing so wouldn't have proved

(1) his quick wit {2) his power of obscrvation
(3] his ability to judge righteously (4) his analytical power
Passage—3

Teaching, more even than most other professions, has heen transformed d1:1nng
the last hundred years from a small, highly skilled profession mn'ncmed. with &
minority of the population, to-a large and important branch of public service. The
profession has a great and honourable tradition, extending from the daw:n of history
until recent times, but any teacher in the modern wotld who allows himaelf tcf he
inspired by the ideals of his predeccasors is hikely ta be made sl:larpljr aware th.at it is
not his function to teach what he thinks, but to instil such belicfs and prejudices as
are thought uscful by his employers.

T. In ancient times, the teaching profession was
(1) rescrved for the upper class
(2) reserved for a privileged few
(3) open to all
{4) limited to a highly skilled minority

2. What has transformed teaching into an important branch of public service 18
(1) teaching skills

_(2) technical developments
(3) utilitarian philosophy
{4) the demand of the employing industry
(184 3 P.2.0,)
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14U/ 117/27 /Set No, 1

9. In modern times, a successful teacher is primarily supposed to
(1) impart mondedge
(2) impart new and latest skills
(3] toe the lines preferred by those in authority
(%) inetil vaiues he cherishes the most

10. The modern teacher is not able to follow the ideals of his predecessors because
{1) of tremendous advancements in professional skills
(2) of social and financial consatraints
[9) the students are not serious about studies

(4) the modern teacher has more interest in politic than in academic activity

11. The author seems to
{1} be againat the current trend in the teaching profeasion
(2] approve the recent developments in the mode of teaching
{3) be a traditicnalist in his views

(4} consider education as a part of public service

12. The author scems to be in favour of
(1) curriculum-based learning
(2} open-mirtded practical learning
{3] activity-baged learning

a : : .
3] learning from ancient scripturea and stories from the paat

(184} 4

L]
gcollegedunlae
India’s largest Student Review Platform

T



14U/117/27 /8et No. 1

Directions : (Question No. 13-17) Choose the word analogous ot nearest in meaning given
in the italic word.

13. Dialectic

(1} Conatructive (2) Instructive (3) Argumentative (4] Deatructive
14. Legitimate

(1) Lawful (2) Correct (3) Rightful (4} Possesaive
15. Ihcredible

(1) Surprising (2) Intercating {3} Disgusting {4) Unbelievable

16. Fotpourri

(1) Medley (2) Dose (3] Weird ({4} Overabundance
17. Lexicon

{1} Number (2} Legal document

(3) Dictionary (4} Captain's dog

Directlons :  (Question No. 18-23) Choose the word which is most nearly the oppoaite in
weaning to the bold word from the given options.

18. Parochisl

(1) Dogmatic {2} Dominant (3) Coemopolitan (4) Niggardly

(184) 5 P¥a.}
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19. Pursanial

(1) Frequent

20. Emdite

{1} Calm

41. Contamination

(1) Purification

322, Homogencous

{1) Tactful

Directions :

23. (1) Questonaire

2‘4 ACﬂmmOdatiDn

(1)

(3] Accomodation

(1) Kindergarden

6. Alcohol

(1)

aT. Garanter

{1)

(184}

(2) Regular (3)
(2) Scholarly (3)
{2} Forgetfulness (3}

(2) Motley (3)

(2] Questionneire

(3)

(2}
(4}
(2) Kintergarten (3)
(2] Alchohol {3)

(2) Garantor 3)

Lasting (4) Rare
Ignorant (4] Filchy
Prejudice (4) Exonerate
Incisive (4) Demonstrative

(Question No. 23-27T) Select the word that is spelt correctly.

Questionnaire (4} Questionnair
Accommodation

Acomodation

Kindergartan (4) Kindergarten
Alchohal (4) Alchohel
Guaranter (?) Guarantor
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* ] + L ; hr
Directions : Question No. 28-30) Given below in bold sre a fgw foreign language phrases
Elmt are commonly used. Choose the correct meaning for each of the phrases.

28. The term siune die means
(1) indefinitely
(2) inadequate
(3) signature by a person on death bed,

(4] continuously

29. Modus operandl

(1} way of duing something {2)' manner of theft

13) way of doing theft {4) way of worship
30. Ab imitio

(1) from the very beginning (2) high initiative

{3] thing done later (4) without initiatjve

31. If in certain code, EDUCATION is written as FEVDBUJPO, then how UNIVERSITY
would be written in the same code?

ﬂﬁﬁidlgzﬂEnucamouﬁlmawpotmﬁfamm#mwﬁ
UNIVERSITY % five www foran amen?

(1) VOJWPSSIUZ (2} VOJWESTIUZ
(3] VOJWFSTJUZ 4} VOIWFSTJUY

‘ | 7 . (A0
(184)
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32. Find the number in the position of ' 7’
‘?' % W W AT G e, 3D yw

13 17 25 2

(1) 40 (2) 41 3) 42 (4) 43

33. In this multiplication question the five letters . ; Wha
represent five different digits,
the actual figures? There is no gero, i L e

T 2
TFBN
U
NFBUT
(1) N=3ﬁ=9,3=T,U=4, T=8 . (2) N=3,1.=‘=9_B=7’U=& T=4
() N=4,F=3,B=9U=7 T-8 4) N=4,F=9B=3U<7 T8

34. Find the misaing number in the serics

Frafofe Swen % qn vor Ry
3, 10, 16, ——, 68

(1) 80
(2) 36 3) 46 (4) 26

(184) _ 8
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3%, Op.ihe bapisiof. the four positiony of § dico given helow: find the colous .af the face

" apposite pink’.
E . / Blue Red
Red  Indigo
. ). Indigo .. @) Red . 3} Pink . (4) Blue

AN A o R X o W R & folir B d wafie @y R

Green ' 'Bh.u:,“ / Red
indigo ¢ Red ‘Indigo
) @ 8 ) T 9 =

36, Find the odd one out
frafia anpfivdt # Fom R B T H

i

(A .@ B, @ ¢ P s

P.L0)
(184

L]
gcollegedunlae
India’s largest Student Review Platform

—



14U/ 117727 /Set No, 1

37. Which-of the given alternative is the mirror image of M1 R O R, il the mirror is placed
below the letters?

Profift et § & M IR O R o shffae oft ozt @, ot z9or @ wwdt & 9
b A '

{1l NIBOBE " [2I:HIHOE
3) N1d0d (49 MIROR
38. A girl was ssked how many gifts she received on her birthday celebration. She replied

that there were all dolls but six, all chocolates but six, and all book )
gifte has she in all? P utatx. Howmany

wnﬁmﬁmwﬁsm“&imiﬁﬂmmmm}MW&mﬁﬁﬂa
3: W Bgw o, B W e TR w B W o
o e g, T [ 1p-Co .wmzﬂwﬁﬁﬁ

(1) 36 (2) 27 (3) 18 4 9

39. Which of th 1 1 indij i
e e following diagrams indicate the relation between men, fathers and

(3) GXD ()

40. In a achool 100 students have registered for Badminton asingles tournament. Each

teatch eliminates one er. H i
e play OW many matches are to be organized to determine the

(184 10
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i ’ d at that inetant the
41. A sprinter goca off the starting block for 100 m run an nt
ml:nd-hand of a stop match had pointed towards north. He touched _t.he finishing !m:
exactly after 11 aeconds. In which directions did the second-hand point when the juat
erossed the fimishing line?

{1) 18° North of East (2} 24° North of East
(3) 72° North of East {4) 24" East of North

hmuﬁmmﬂlmiﬂuﬂmlﬁmtl{aﬂmﬂhhtmh‘ﬂ
?ﬁmﬁmmﬁﬁmﬁgﬁw@imHMHMMImwﬂm
ﬁgﬁmﬁm,a‘tﬂﬂhﬂﬁhmmﬂmm?

(1] 18° @& (2) 24° (@ (3} 72° qErN (4) 24° IWER

i i i i. Neha is order than only
42. Amongst five sisters, Neha, Jyoti, Asha, Ravi and Rashmi. :
three ﬁ?hcr aisters. Jyoti is younger to Ravi and Neha. Asha is order than only Rashmi,

Whao amongst them is the eldeat?

(1} Neha (2) Jyoti (3} Asha (4) Ravi

e wh T, W, ST, @ W @ A du ek e At @ W b, A w
o 3 94 N s e T A ) 4w A A e A

() Im (2) =R (3) =AM 4) da

43, The greatest number of 4-digits exactly divisible by 12, 15, 20 and 35 is
12, 15, 20 @ 35 A i Pl € Tl 4-a A wafftes TH dom A- &7

(1) 9999 (2) 9660 {3) 9832 {4) 9860
44. The least number which when decreased by 7 18 exactly divisible by 12, 16, 18, 21 and
28 is
@ - T oA wen 2, el 3 7 W@ R W 12 16, 18, 21 W™ 28 & T
. Py ® W 27
(1) 1012 (2) 1008 (3} 1015 (4) 1022
(184) ‘ 11 _ .10}
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45.

47.

(184}

The side of a square tile is 10 cin. How many tiles can be 8
which is 25 it long and 2 m high? L Pxed on one eide of & wall

% TR e (@he) ¥ o s B wad 10 cm N 2 waft
W A1 ) ad o woawd €7 m.' v s 0 e

(1) 100 (2) 400 (3} SQOD (4) 500

In & piggy bank the numbera of 50 paisa coina are five 4
tmes th :
if there are 120 coins, find the amount in the bank HUmPY OLRE L Cokihn,

W% T ow) ¥ hew ¥ 50 0 % fmt @ wem ¢ LIEC
120 Rk #, @ e X yo. AR o o o 47 bR o

(1) Rs 50 (2) Rs 20 (3} Rs 70 (4) Ra 80

Half of a number is added to I8, then the sum is 4'6- The number is
Rt oM w1 s 13ia\3i§mw!ﬁﬂ46ﬁmt,u‘razﬁwm!?
(1) 92 @) 56 (3) 65 ) o

In the word MAT i
" HEMATICS the ratio of number of consonants to the number of vowels

mmEmncsmiﬁaﬂﬁﬁﬁﬁﬁmwaﬁmﬁmmt?
il 4:7 ' (2) 7:4 B 5:6 4 6:5

The ratio of the heights of X and Y is 4 :3. IfY is 1-2 m tall, then the height of X is

{1} ?-Q m 2) 18 m | 8} 16 m [4) None of these

xqavﬁmwwmatlu&YMmmt,ﬁxﬁmm

1) D-B‘m (ZTI 18 m B 16 m (4) ¥ @.aﬂf'ﬂﬂ
12
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(184)
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Value of 124&_4-3+118+2 i
124 x4-3+118+2 & a9 }

(1) 552 (2) 496 {3} 553 (4} -553

Six friends A B.C. D, E and F are siiting. A and B are from Lucknow, rest are from
Varanasi. D and F are tall but others are short. A, C and D are gitls, others are boys.
Which ia the tall gir] from Varanam?

!ﬁ!&BCDE@Fﬁ@.lIAtﬁBmtﬁmﬂ‘mﬁMt!l @ F
ﬁ!ﬁhm:ﬂilacwnmhﬁrtwmm#lm&m LE L
Lo R T

iy F 2 D QB E 4 C

How you will divide Rs 2,324 among three children in the ratio 11:11:1 ?
A% 2,324 3o W A7 welt & 11117 & sqow ¥ Rw wwn a7

(1) 836; 900; 588 (2) 840; 896; 588

13) 840, 890; 594 (4) 820; 906; 598

Find out the wrong number in the series

Porfifiir saen % o den B IR W
2.7, 14, 23, 33, 47, 62

ny 7 (2) 33 (3) 47 4) 62

Pointing to a man on the stage, Mrs. X said, “He is the brother of the danghter of the
wife of my husband.” How is the man related to Mrs. X 7

(1} Son (2) Husband (3) Cousin (4] Nephew

T W i 0 IR wh oW gy, AR X Y W, T A TROA wh R oo wd
£ 3u miy W Nl x @« fom X7 -

(1 . (2) ofd (3) dao w 4) wha
13 *T0,)
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$S. Examine the following statements :
(Il None but the rich can afford to travel by air.
(1] Some of those who travel by air become sick.

(lll) Some of those who become sick require treatment.
Which one of the following conclusions can be drawvm from the above statements?

(1] All the rich person travel by air 2) " Those who travel by air become sick

(3) Al the rich persons become sick {4) All those who travel by air are rich
finfofe st wom ¥ .

1) 3@ «h =fs @ @i am = w6 €
(1) ¢ 7o w5 T 8 7 finw 1z IR N

0m $& @ & @R & I ¥, ¥ vaw R smwwa 9 Y
e w7 A A F9-w freed Baen s ww A7

(1) Bt it =fs ward T W) § (2) A ward e w ¥, ¥ dvw B ww ¥
(@) ot ot =fs Hae & a3 £ (4) @ T F+Q e o s it wd B

§6. What is the total number of triangles in the following grid?
Preffian fire & g fend g §7

(1 27 2) 26 3) 23 (4] 22

(184) 14

L]
gcollegedunlae
India’s largest Student Review Platform

T



14U/117/27/Set No. 1
identi ] i 3 litres of water per head
T idential colony having a population. of 4000 requaires 150 : 1
: :::ly. jt hae a tank measuring 26-m x 15m nﬁmammtcrufthm@kwﬂ-hst for
(1) 2 days (2} 3 day» (3) 4 daye (4) S days

4mﬂmmmmﬁﬂﬁﬁﬁsnﬁﬂﬂmﬂm1mﬂmﬁm
ﬁaimiizomu15mx6mmmqmﬁsttmimmwaﬁﬂiﬁnﬁﬂm
f off e R 7 = w2

(1) 2 = (2) 3 fm 3) 4 f= 4) 5 R

58. Three pergsons X,Y and Z wore T-ghirts of black, blue and orange colours (not
f necesearily ipy that order) and trousers of green, yellow and orange colours [not
necessarily in that order), No person worc shirt and pants of the same calour. Further,

it is given that

M X did not wear T-shirt of black colour
() Y did not wear T-shirt of blue colour
M) Z did not wear T-shirt of orange colour
{{v} X did net wear frousers of green colour

(V) ¥ wore trousers of orange colour
What were the coloura of the trousers and T-shirt worn by Z respectively?

{1) Orsnge and black
() Oreen and blue
(3] Yellow and blue

(4] Yellow and black

{PT.0.)
15
(184)
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:l:ruﬁgiix,mﬁz%mﬂ,%qﬁ oft o & |
et shaden bbb L
) xém@[hma-miIﬂm
anr%‘ﬁ&ma-mwm,

0in 2 3 Tmeft @ & #-yd T8 oEm

(V) X 38 &n ff §z 58 vt

V] ¥ 3 o 0 @ & oo

Z T 9% T 42w AN F o1 mww o A7

() TR = s (2w w e (3) e & M (4} e va ‘wen
89. Haw | i ;
mirmzr-n?my ctera of the English alphabet {capitals) appear same when looked at 8
mﬂmmmm%mmmmmﬁn
1 o (2) 10 3 11 4) 8

60, i ;
;.1'11:;? fa T.lal :a:;{] of 6 persons 4, B, C,D, E and F, These are two married couples in the
a dﬁ:ﬂ;;b:n are }awycr, teacher, salesman, engineer, accountant and
lyer. .t 3 married to the lady teacher. The doctor is married to the
y T aocountant is the son of B and brother of £. C, the lawyer ig the

daughter-in-law of A. E ig : . :
related to £ the unmarried engineer. A is the grandmother of F. How is D

] ; .
(1) Brother (2) Sister (3) Father (4) Grandfather

(1) g (2) am 3) fw
(184)
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&1. Mr. X drives ta his office at an average speed of 48 km per hour. The time taken to
cover the first 60% of the distance is 10 minutes more than the time taken to oover the
remaining distance, How far is his office?

# X Foh I W 48 km R R B fwa wR A T WM AW A @ §1 w® A AR
A7 F T 60% N AR A TR e @ 0 W W W AT A ww R 10
fiz e W R I A Peel g Y

(1) 30 km (2} 40 km (3) 45 km (4) 48 km

62. A wheel that has 6 cogs is meshed with a larger wheel of 14 cogs. When the amaller
wheel has made 21 revolutions, the number of revolutions made by the larger wheel
will be

6 Zid) Tk v v 14dﬁﬁﬁmm%mﬁatlmmq&w21wtﬂm
A 8, @} A gU R feg TG R & JE W

(1) 4 {2) 9 (3y 12 (4) 49

63. There are some balls of red, grten and yellow colour lying on a table. There are as many
red balls as there are yellow balls. There are twice as many yelluw baJla as there are
green once. The number of red balls

(1) is equal to the sum of yellow and green balls
(2] is double the numbex of green balls

(3} is equal to yellow balls minus green balls

(4) cannot be ascertained

w3 R R o d R am R T e 3w d R
8 won o0 1 & T ¥ ww TG B den ol

(1) 98 W ¥ K& F A F T
(2) R 1} & o 2 g
3) maﬁmamﬂﬂmm%wh’%m
¢4} ﬁmmw
{(184) | 17 P.1T.0,)
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64. In a class of 45 students, a boy is ranked 20th. When two boys joined, his rank was
dropped by one. What is his new rank from the end?

(1} 25th (2) 26th {3) 27th {4) 28th

45 3l B W w A o wwE 208 T WY W@ Q qww T F aRkw @, A ww
T W2 T I Pee TR @ v ww B § @ - dmo

(1) 25a @) 264t (3) 27vat 4 28t

63. A boy X running at 8 km/hr is chased by his friend ¥ whose gpeed is 10 lon/hr. {f X is
100 m ahead of Y, then the time required for the ¥ to catch X will be

smn/hrﬁuﬁﬂﬂ;ﬁmﬂmmxm%ﬁﬁayzmﬂmmt,mm
mhn.fhr!lnﬁx,vﬁ1mmuﬁﬁ,araﬁxaﬂwﬁﬂsﬁ1qﬁmimﬂ
FEEar geft

(1] 2 min (2] 3 min (3) 4 min (4) & min
66. A cor travels at a certain average speed for a distance of 63 km and then travels a

distance of 72 km at an average speed of 6 km/hr more than its original speed. I it

takes 3 hours to complete the total journey, whet is the otiginal speed of the train in
kmftr ?

wmwﬁhmﬁeamﬁ@mmf.ﬁmﬂm@ﬂﬁﬁmm
ﬁm;maﬂnﬁ#mmﬁﬂmmtmﬁsﬂgﬁlmﬁtpfmﬂatiéanm
mt,mmﬁ@mmﬂmﬂﬁnﬁ@aﬁﬁm@u

(1) 24 ?) 33 {3) 42 4y 66

(184) 18
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.87 Examine the following three figures in which the nambers follow a specific pattern :
M 4t A7 i | am } W, Bl Te & el ofem § X

84 - .]8l1 a8

o

14 | 12 | 18| 9 L2 in

The miseing number (?} in the third figure above is

wmiﬁﬁﬂmwt

(1) 7 (2) 16 3) 21 (4) 28

68. The tank-full petrol in Mrs. A's car lasts for 10 days. If she starts using 25% more cvery
day, how many days will the tank-full petrol last?

e A phe v g A AR e BT 10 B o SR & AR a vRRe 25% st
e = FwrR, W AW B wh L6 A B ww W@

{1) S 2} 6 3 7 {(4) 8

69. A sum of Rs 7,000 has to be used to give seven cash prizes to the players of a teamn for
their performance. If each prize is Rs 200 less than its preceding prize, what is the least
value of the prize?

7.000 T B T T = T @ A%k foenfedt N TH e v ¥ R wa T

¥ wq § 2% ¥ fig R s s @M el PR A 200 3o W @, A W oy e
ww Aoy 4 2 S-w ot

(1) Rs 300 (2) Rs 400 (3). Re. 600, .y . 49 A0 B0

(184) L 19 - Pro.)
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70, X can walk a certain distance and drive back in 06 hours. He can also walk both ways
in 10 hours. How much time will he take to drive both ways?

{1) 02 hours (2) 02 and half hours

{3) 05 and half hours _ (4} four hours

P8 30 o5 dew W ¥ WR X wR W W 06 W F avw oz www ¥ 3w A sin tem
TARIRE TP R TR TG R NI R W R e am
% T W Am?

{1) 02 =¢ # (2) 02 W& aImd o2 ¥

(3) 05 wa & %2 A (4) IR 92 4

Directions ({?ucat_inn No. 71-82) Given helow are Legal Principle foliowed by a Factual
Situation. Apply the principle to it and select the most appropriate answer for
questions among the four choices given.

fdm ; cmﬁmv:.zammmmmﬁaﬁamﬁ-mmmmm
ﬂ@ﬂﬁﬁﬁﬁ%mmﬁmwwmgﬂ%mﬁj

71. Legal Principle ; For purpose of exercisi 3 ;
‘ ; sing right of private defen 3
capacity of attacker is no bar, ’ " physical or meata

Factual Situation : Sumit in his madness att . :
2 empts to kill .
to save herself hits Sumit with iron rod. P e Shabana. Shabana in order

(1} Shabana has right to'p:ivnte defetsce though Sumit is mad
(2) Both Sumit and Shabang are guilty of no offence
(3) Shabana has no right of private defence gince Sumit is mad

(4) S__lhahana is guilty of inflicting grievous infjury on Sumit

1
(184 20
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fitvy fizrn ;. = Tw ¥ At % T § awewed B wiifts W e e WY
war At &

e Raf) - g e KR e B o € Qe W b)) e Bk ofen &
- gim ® s W & BE A v w@ A

() T € e SR sRe 8, TR gie e

) gftm @ o At wTe & 0 of €

) e % wiem siea v SReR T8 L, Wi gite e 8
(4) warn ghm % e w7 A e W B AN R

72. Legal Principle {I) : Any person may use reasonable force in order to protc:ct hie
property or pxtson. .

Legal Principle lli] : However, thr{_ force employcd must be’ p}'oportionntc to the
‘apprchended danger.

. Fattusi situation : Ravi was walking on a lonely road. Maniyan cane with g knife and
said to Ravi, "Your life or your purse”. Ravi pulled out his revolver. On seeing it,
Maniyan ran. Ravi shot Maniyan on hie legs.

(1) Ravi will oot be punished. as there was danger to his property

(2) Ravi will not be punished as the force he used was proportionate 1o the
apprehended injury

(3] Ravi will be punished as the force employed was disproportionate to the
apprehended injury

(4} As Maniyan ren to escape, there was tio longer a threat o Ravi’s property. So Ravi
will be punished

{164) 2) P90}
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it g () : ®if ft = avh el swar om A ofden TR ofs 1 oW W oEE
{
faftw frgra (1) : g ofs w1 mm wonfys B & agEr @ Tfg)

s fafy - R v AolF w5F W O%m @ @ @ wRinE o § gl e | & T amn
MR 3@ =, “pelt TR W TR W) W@ Y e fEen e B o= B wrm
A ¥ farew @ wimg & W & ot =

(1) W= gz T Rar amm, wifE wdh wfa B om @

(2) d9 & gz W R Swpn, Fife 3o sfam 92 5 .agme A @ wis = wWm B @

(3) T = gT o swen, ®iE et wnf S § sger 4 s oft W s B @

4) % =R ¥=91 & fom v T @, tefRe @ A wft B o o W m s @
w <ika fem smom

T3, Legal Prmc:lplc When any person dishonestly takes any movable property out of the
possession of any other person without his consent, he is guilty of theft.

Factual Situation : A comes to B’s house and takes away a book with the intention to
return it.

(1) A commits thef because the book has heen taken without B's consent
[2} A docs not commit theft because he intends to return the book

(3 A commitg theft because he has taken a book which is movable property
(4) A cotumits theft because he has moved the book from B's house Lt

Rt figm : v = =fs swegs b =fs N 99 wuiy 7 Iud %
Am Q, A | AE wQ W 2w Y = RS

m%:aﬂ%mmtmwwzﬁmmﬁ#m%ﬁmal
(1) Aﬁﬂmﬁmﬁt.ﬂﬁsﬂﬂm#wméw

(2) A NG w3 = qh W R, Wi W Wy Tew B www w2 T ow

(3) Aﬁﬂﬂaﬁmﬂﬁt.mﬂgméwm,ﬁﬁ:wmﬁri

4 ARt @ DR, ®ifF T e N B F WY '@ R

(284 2
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74. A finds o diamond ring lying on B’s table. A picks up the ring with the intention of
dishonestly kecping it.

(1) Acommnits theft because he has moved the ring from B's table without hia consent
{2) 4 does not commit theft because he has still not left B's house
{3) A does not commit theft because B is careleas with his valuables

{4) A commits theft the moment he picks up the ring dishoneatly and intended to keep
it

A.Biﬁlﬁ'aqtqaiﬁﬁﬂ#@m@iﬁmm,&mﬁmmmmmﬂﬁ&mﬁ
Ah W 3@ AW R

{1) A A 2, wE T BB A W D Th wER ¥ W i W o R
(2) Adﬂmﬁqﬁ%,aﬁﬁmﬂmwstmﬂmmwt
(3} A S| A F 2, wifs B qeEe awgall & w8 s

(41 Amwﬁaﬁmma.m«mmammtm@mmm
A | S @ R

7%. Lepal Principle (I} : Mischief is an i{ljury to property with the intention of causmng
wrongful 10ss to any person or public.

Legal Principle (II) ; The person to whom the loss is wrongfully caused by mischicf necd
not be the owner of the property himself.

Factual Situation : A has leased his house to B for 5 vears. After one year A feels the
neod for the hiouse and requests B to vacatc the house, but B rcfusca.‘A in order t? get
B to vacate the house, causes fire to it, but B with the help of the neighbours quickly
extinguishea the fire before it could really damage the property.

(1) A is guilty of mischief

{2 A cannot be guilty of censing mischief

(3) A is not guilty of mischief as there was no damage

(4] A is not guilty ofmiudﬁefhecauseAiuMa'ﬁEMthm

(P-¥4L)
(184) 23
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AR Rigrn 1)« A =afs 71 ol ) e €
B e et i LU O I T ey

e R (1) : 7w @ ? R wfs W
o2 i v g & ofaf s 2, e sw owely

m%:aimmsaﬁsaﬂ#ﬁﬁ@w&mhmﬂ%

mﬁgammﬂiﬁtmﬂsﬂmﬂmthmmmﬁMaﬂﬁdﬂ?ﬂi

gg.-., mmwimhammﬁmaﬁm&,matn%Ammﬁmﬁ:m%mt
B@ﬁﬂﬁmﬁmﬁrﬁmﬁaﬁw@ﬂwﬂmmﬁmw&mm'

(1] A R +3 ¥ ot

(2) AWg + & I D wwm

SRR AR R RUE R e

(4} Amwmaﬂﬂt,ﬁﬁsaﬁwmmmt

76. inciple ; ;
Dbﬁ:mm:;ﬁwynwer by words, figns or otherwise brings into hatred or contempt
; isaff ction towards the Government established by law in Indja shall
punished with imprisonment for life, ) oe

Factual Situation : In & public meetin : ;
R £, Vikas Singh, the leader of an it
‘t::undir:.; b:':tun u::t :i ?PovTEmt of scoundrels, bootleggers and ;pampﬂ:::;n pThang
actv un - leach them g lesson in the comin i : - ;
- : g electiona
of power". The Government ig contemplating to pro o Sl;i:]?tmg them out

[3) Vikas Singh is guilty of sedition, as hi tatemen
: t 88 .
leading to breakdown of law an:i orcder t t would incite people to violence

(4) Vikas is guilty because he has used abusive language

(184)
24
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ffw figre : o, #3al s s o6 R wr d dw w W =Rt o % WA g,
R [ Rudw & VT X o w5 @ wfy geles da § @ @ oeeh om

e MY @ wrdwfm w3 dn ohe Rem e a8, o woew g, sl

i Arm IR ISt Pl A smeim R =
mﬁmf'lmﬁﬂmm?wqaﬁtuﬁiﬁarﬁm

(1) P fie s & Reg T fnderen ot veal Tt aeel % o e & i

2) Frem fiy wage & 30 T &, T 3 wiefe W A dW oW Tp-rEE & R
N M W R §

(3) Pew fir wape * 20 £, w6 3w 3= d @ fes sl 3 fm deafta ®
T 2 P dhoy wi-srEew W AT wd B = A ¥ e R

(@ fram a0 €, wifs Y el T v W van fen }

77. Legal Principle : The occupier of a premises owes a duty of care to all his invitees and
rr m i

F‘actuq,l&tum Laloo was running a dairy from his house. People used a part of his
farm aa a'shortcut to get to 2 nearby railway station. Laloo whe did not approve of than,
put ug a notice that * Trespassers will be prosccuted”. However, since a number of
these people were also his customers, he tolerated them. One day, a person wio was
using thia shoricut was attacked by a bull belonging to the farm. The injured person
filed a suit against him.

(1) Laloo is liable for having kept a bull on his farm
(2) Laloo is not liable in view of the clear notice against trespassers
¢3] Laloo is liable because in fact he allowed the paople to use his premises

{4) Laloo is not liable to the people other than hliimll*ilnﬂ't

{iﬂl 25 | P.1.0.)
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e e We oY W X T 300 9 W m) WM 3ok o % s v w39
foeafl Rur o in WA ¥ g o =3 @) T W W@ Wz A @, whe W =
Aiew wm A B st W w3 A 7w & weh A7) AR R 3 At i ook wgm @
TEE W mia @, wir R} FEe eE F W el @ R T § TR Qs
WEN & & 49 3w = Ra wmm wfs 3 a9 & Reg e T | R

() < 3R o W & @y ¥ R e & :

(2) s T TR, Wi T m At we W @ M am A B

(3) = IRt §, W awE f 3@ o R ¥ e W o W N g A w2
Tl <t

) W a9 Tew ¥ AR v Rl ¥ o sl T R

78, Legal Principle ; Whoever, intending to insult the modesty of any womari, utters any
word, makes any sound or gesture, or exhibita any object, intending that such word or
sound shall be heard, and that such gesture or object shall be seen, by such woman, or
intrudes upon the privacy of such woman, shall be punished.

Pactual Situation : Ms, Praveen works in an Export House in Greater Noida, There are
mote than 150 employees along with workers in such company. One of the employees
Roshan wanted to have some talks with Ms. Praveen. But she scolded him in front of
some 90 workers in employee’s canteen. Taking this grudge, Roshan cvery day during
entry &t morning patted Ma. Praveen’s hand and shaked her right-hand for few
minutes against her will. One day she made up her mind and informed her Boas. But
the Boss due to the work efficiency of Roshan did not take any action. She alternatively
informed the Police. Police arrested Roshan. Roshan told the Police to defend himsgelf
that he used to shake her hand as it is a mariner of wishing a colleague and that his

Boss is enough to take action because it is the work place and his Boss is competent t
decide matter himself. Decide. pet ’

(1) Roshan shall be punished because shaldng hand with a gir]l against her will

amounts to the sexual harasament at work place and such an act is subject {0 be
prosecuted

(2) Rua!-nan can be punished only by his Boss not by Caurt of Law and if his Boss
forgives then no law is there in India to punish him

(184)
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@) tm & = wrht T8 ¢, % wm few T § s @ W S

[4lmﬁmwﬁﬂt,ﬂﬂ:mﬁaﬂmmﬁﬁmﬂ%ﬂiwmﬂ
il & av @ Yen oeer =W R

79. Legal Principle : A master shall be responsible for the wrongful acts of his servants in
the course of his emiployment.

i won : ‘The dicate Bank’ was running a small savings scheme under
thchmalitmmsed a.gns?t: would go round and collect small aavings from several
people on daily basis. Theae agents would get commission on the deposits so mﬂccte:d.
Anand was one such agent, collecting deposits from factory workers engaged on daily
wages. Though he regularly carried on his busincss for sometime, slowly he started
appropriating deposits for his personal use and one day he just disappeared. Onec
Fatima, who had been handing over her savings to him found that necatly for a mn;:th
before his disappearance, he was not depositing l.mr savings at all. LTh: Bank, w er;
approached, tack the stand that Anand was not its regular and paid employec, an
therefore, it was not responsible for his misconduct. She files a suit against the Bank.

(1} The Bank la not liable, since Anand was not ita salaried employee
{2) The Bank is liable. since Anand was projegist as.is qunpleyes o :
(3) The Bank is not liable, since it did not kmown about milnpprmhtlm by Anand
({4) The Bank is not liable as Anand was not its regular’ and paid employee

P10
(184 27
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RRw figrs - vr ot o} whafet 3 oo fm T gl v & vy e B

veews fRfe - 4 e & = oy T e @ W G TR o W@ W =
AR A o B A yRRY @ W v B ool D e W oT fwW wSE @
wofkr @R ¥ gEr v Ra woml oz ft @ dm @ Wi @, 3 wrEm § oam w0
Qe wogd @ v B ww vefie wWar w1 TR 3o A T ax B R A o wm
W, A e @ e W W W aed foh W % R TR P gE W Rar ok
ﬁﬂﬂmﬂ%rmﬁmm%ﬂﬂﬂtﬁﬁ:mﬂmﬂmm&mmmm,aﬂ
T w5 mas P ¥ S o w0 TR vve @ TN N 3 s T8 avan ww d D
wrd G W, A TR W w a1 AR s Ird Pafie st o o sl @
% W afa svm ¥ R TR @ b wher 3 % % RRg W@ Tz s

(1) ¥= 3zl T8 ¥, =% T TR @ Teinh wiod T

(2) hmt,mmﬁm‘mtmﬁw&mwm
3) ﬁmﬁt-ﬁ%ﬁmmmimﬂm?ﬂm
[4) <% @A @, Wik R ™ afw w@ Jenid sl 3@ @

80. Legal Principle : Law does not take notice of trifles.
Factua.l’ Situation : A proposes to his neighbour B that they both should g0 together for
a morming wnlk B agrees to the proposal fmd it is decided that both of them would
meet at a particular p:nmt at 6 a.m.-every day for a continuous period of seven days.
But B couldn't fulfil his promise. Thercafter A files a suit againgt B claiming damages
for the agony and mental torture suffered-by him, Decide.
(1) B is guilty of breach of contract and is liable to pay damages
{2) There is na intention to enter into legal relations
(3] The matter is too small and the Court will refuse to go into it

(4) The matier is serious and Court will accept claim of A

(284} 28
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Rftre figrr - @y arit @ el w gl

e B : A 39 W B ¥ wpR 3w § 3t Taewei som Lo
W AR S B W R e R s w R ol ok ow fem s # f6 At stemft am
Rt 7 o = (i e w ¥R W 6 =B e ¥ R B I amg

WA W ORE AR A A B Reg W e TR gedT @ e 3efrsa
® AR TR femn Pk Sk

(1} B ¥a9 & g =1 b @ G % Y ¥ forg, el &

@) # wh i § Swm ot S

(3) e von weh & fe AR W R F w8 weR W\ Am
(4) WorEn Wik & i AmwE A ¥ 73 e )

74
i

82. Legal Principle : When at the desire of the promisor, the promises promises to do some
act, then such promise is called a consideration of the promise.

Factual Situation : X arranges his birthday party at his home, and his friend ¥ promise
to cook a special dish for the guests. On the day of the party, X finds that ¥ neither

came to his party nor did he get the special dish. X suea Y for the breach of contract.
Will X succeed in hie action?

(1) X will succeed because his friends has failed to keep his promise

2) X will gueceed because hiy reputation was affected due his irresponasible behaviour

(3) X will ngt succeed because there ia no consideration for his friend’s promise to
bring the special dish

{4) Both (1) and (2)

fufre Rigea : am B wRwwl faf mufe 6 egEr B W W oW o wm , D wR
s ¥ ofy T wo s R

T TR - X W oA AW W ¥ @ w wd T o wa R, fed aem o
fRysfRai * e it st s @ N W@ 5 5 X & g <wm R fe
Ya® ufl §f o oft 3 @ T fafte stew dar fmnL X, Y & Rog sqeiv & 3gw @
wWerE 2R W@ ¥ R X AW @ R d ane fme?

(1) X awe o, Wik 3o B 3 omar a9 @ T R

(2} X wea fm, wif% B ¥ oiiEdn e & SRR TR TR W e T
@ X wwa 7@ T, wii sak PR B weagm R Y

@ (1) @ (2)

(184) 29 - P20
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83. Legal Principle : Nuisance means an unlawful interference with a pcrson’s use or
enjoyment of land, It includes interference with comfort, health and safety of the other.

Factual Situation : A and B are neighbours in a residential locality of Delhi. They had
cordial relations. A suddenly decided to run singing classes, he also used loud tmusic to
good effect. B has two school going children who were studying seriously as their
examinations were approaching. B pleased with A to tone down the loudspeakers, but
the latter refused. B went to the court pleading nuisance. Can he succeed?

(1) Yes, because the principle against nuisance demands that the noise level should
be such as not to disturb the neighbourhood

(2) Yes, because to run business in a residential locality is illegal
{3) No, because one is entitled to do whatever cne wants in one’s house

(4) No, because under Article 19(1) {g) of the Constitation of India, every citizen haa a
right to freedom of trade or profession

ﬁmm;mmmmamtﬁaﬂmﬁnmmﬁ%mmm
ﬁmﬁamlmﬁmw&%m,mqﬁmmﬁmhnﬂuﬁﬁam

mﬁﬁr;aqﬁsﬂm%wmmﬂm@itmmmwmm
TG A T w er T www e, fed @ 32 =R & aie W v W = T B
%amﬁm&,ﬁmﬁwmﬁ%mﬁmwm%%ﬂmﬁls
ﬁaﬂmﬁmﬁ#&ammmm,mmmﬁﬁmsiat
mm#ﬁumﬁmmﬁmmﬂmmﬁWM?

(1) H.ﬂﬁmﬁmmﬁﬂﬁmﬁﬂamﬁatﬁamﬁmmmﬂmﬁlﬁﬂ
A A o fA =ity

(2} o, W% srandin ¥ § =awm www ady 3
(3) ?ﬁ,ﬂ?ﬂ:uﬁmﬁm#rmwm%mmﬁmmﬂﬁm%

(4) ¥, WiiE sl d@fium ¥ 19(1 * Welrg i
=t oy e ) (B + & miE w® wEaw T g
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Private International Law is also knewn as

(1) Conflict of Laws {2) Common Law
{3) International Law (4) Civil Law
£l wadta fafa = fea o 4 @ I W R?

(1) faftere vk - (2) amm AR (3) s Rife (4) i fafd

Indiag Parlizsment is based on the principle of

{1) Bicameraliom . © {2} Universal Adult Franchise
{31 Diarchy {3) Fedevalism

wrala wag fm fagm s iy ¥7

(1) ez (2) AfRs T AoivER

(3) R | (4) Wi

The right of a party to initiate an action and be heard before a Court of Law is called

(1) Locus standt (2) Pesonam

{3) Fundamental Right {4) Private obhgation
wmimﬂa@ﬁwﬁtﬂaﬁw%aﬁmﬂmwmt?

(1) @ew &0 (2) w™ (3) o wRem (4) Poh alm

When the employer ie held liable for the wrongful act of his employee, the Liability i3
called .

(1) absolute liability @) tortuous lability
3) vicarions lisbility (4) atrict Kability
31 ®.10)

L]
gcollegedunlae
India’s largest Student Review Platform

—



14U/117 /27 /Set No. 1

ITREM RN Fw R
(1) gt soaa {2) sraay IdTa
(3) whafsftrs Fwdam (4) =3 Fmdam

87. Unlawful entry inte another’s property is

(1) trespass [2) assault (3) confinement (4) restraint
ﬁmhmwﬁ:ﬂmwﬁrimwmﬁwmt

(1) # R =@y {2) ™R (3} aftdw (4) Fig

88. Supreme Court of India propounded basic feature doctrine in

(1) Golalmath Case (2) Kesavananda Bharati Case
{3) Maneka Gandhi Case (4) Gopalan Case
m%ﬂa'mimeﬁhmiWMW?

(1} M e (2) FwaEg YRH ar

(3) e iy A (4) MeR T

89. During criminal prosecution usually the burden of proof is on

(1) complainant {2) accused {3) police - (4] prosecution

mmﬁmﬁmqﬁmwaﬁﬁmﬂﬁmwﬂm!?

(1) wharHh (2) Ifgrwr (3) Im (4) spfrem
(184) 32
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90, Offence which cannot be compromised between the parties is known as
(}) nman-cognizable offence (2) cognizable offence
(3} compoundable offence {4} non-compoundable offence

il % vn Tyl 7 B TR o sUv R B w0 ® wer amar 37
(1) sAaydfle M (2) I¥ IAWY {3) |AYY A [4) FWATHR ATAM

91. - A person ‘dying interatate’ means he
(1} died without legal heirs (2} died without making a will
{(3) died without a son | (@) died without any property
‘- fewe’ A afea §, % =fs @
1 s M e sfm N3P ™ A
(2) e ) Wl & g W YW B T @
13) w9 03 ARl g7 W B3 TR R
M B TRaFFRAEEA WA

92. “Jurisprudence' may also be termed as
(1) Philosophy of Law {2) Geography of Law
(3) History of Judges (4) History of Courts
‘e’ W wE W wew R
(1) R w i @) =AW g
(3) st % s @) el W e

. {184) 33 rr'.'ﬂb.l
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93. An agreement made without consideration is

(1) walid (2] void (3) good ' (4) acceptable
faan ey St o & fen mn siga Bt @
(1) 4m (2) [l (3) sr=E (4) e

$4. The Indian Penal Code was enacted in the Year
wdiw 42 #ffm fem o @ f w?
{1) 1960 (2) 2010 (3) 1760 {4) 1860

98. iIndia is 8 Union of

(1) Countries (2) States {3) People (4) Institutions
WRA TH WY &
{1) 2=t = 2) vl = (3) IFETUT W (4) FeaEl =
96. The Supreme Court of India conaijsts of Chief Ju stice of India and uthm: Judges.
@ F ww AAeE § e ¥ ger amEnhn ¥ i s v g

(1) 30 (2) 25 {31 26 (4} 29

97. Concept of judicial review is of the Constitution of India.
{1} temporary feature (2) basic feature

{3] weak feature {4) irregular feature
=M gaffan @) sauwn e e 6 %

(1) Jwmfht ®Er (2} e e (3) ®WeiR w¥mn (4) el wvten

(184} . 34
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98. Find the odd one out

(1) Afbrdamus (2) Certiorari {3) Quo wirrardo (4) Stne die
Ot & A e o o fafge wl
(1) #hdnm 2) &Faitd (3) M =R 4y wm =

99. Right to life and personal liberty s guaranteed 0
{1} cvery person under the Constitution of India
'{2] every citizen under the Constitution of India
[@) every adult citizen under the Conatitution of India
(4] cvery minor citizen under the Constitution of India
AR wd safwme T W SR SeE e T R
(1) oot @es % o was w1 W
(2) v WA ¥ TEa S At A
(3) v GRYR ¥ IR TEE T W
(4) wohe GRaE % a9l Ao RS

$00. Wio is the final interpreter and guardian of Indian Constitution?

" {1) President {2) Prime Minister

{3) Parliament {4) Supreme Court

{P.T.0.}
35
(2949
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101. The Preamble of Conatitution of India is

(I) a part of Conatitution {2) pot a part of Conatitution

(3] an annex to Constitution (4) a achedule of the Constitution
W dfaem f v 1

(1) s = & (2) R = us qm oo

(3} @RvE =1 w v (4) wlRwa € @ spgh

103. Which among the following in the Constitution of India is called ‘Magnacarta‘'?
(1) Directive Principles of State Policy
(2) Preamble
(3) Fundamental Duties

(4 Fundamental Rights
el wfe F fraffee § @ Al Wi’ T w87
(1) ™ ¥ M Rlwe fugm (2) wearn

(3) Y wsg (4) TPnm srfirew
103. No minor can enter into a contract of work. Working in a factory can be possible onl
- - - y

(1) A major can work in a factory
(@) A factory can contract with a minor

(3} There cannot be & contract to which minor is 2 party
{4) None of the above

(184
36
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#f W saees v s saw f W g el srem 1w w T FEw @ SEEY OO
B Eva § B @ Ae-ah sy o &

(1) % waee Pl s W W wen )

(2) ‘% wwa PRR saek ¥ G4 sl W R

(3 et sawes ¥ o vy R @l 9 e @ Tt
(4} 0w ¥ A wf

104. International Law is the law between sovereign States. A sovereign is the Supreme
Authority not bound by legal constraints

(1) International Law is not binding
{2) International Law is only a positive morality
(3] Intermational Law is binding

{4) International Law is in the nature of pact between sovercign States
m@tmmw*mmﬁﬁtlwmquﬁaaﬁmt,aﬁﬁmm
Aqs R

(1). =i AR wwge aff R

(2) il AR Fee @ T e

@) wwign At dw=gs t '

(4) said faft ey of % ma P T agas A gl § ARa

108. Ipso facto means

{1) in place of (2) by rcason of firat fact
(3] by the same sources {4} by the way
o 6 & e
(1) % AW (2) W e & R R
{3) BRW @ & IR T (4) wETY
(184) 37 {P.T.0.)
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106,

107.

108,

109,

(184)

Ex-parte decision means a decision given

{1) after hearing both the parties (2] without proper procedure

(3) =after observing proper procedure {4) without hearing the opponent
v fafa &1 sfinme @ o Wm fofn, @ fe g @

(1) 3wl & gren ¥ eEm (2) wqfia wfEn w oem fisg wie
(3) Wi wisen & w9 & wraE [4]ﬁrﬂﬁwzﬂzrmﬁ;aﬂl
Which of the following Constitutions is a Unitary Conatitution;:*

(1) USA (2) Indian (3] Australian 4) B.ritish
= # & d9-a1 dfam o v dfam 3e

(1} s (2) Wi (3) = fewmt (4) fafem
Ultra vires means

(1) within the powera (2) outside the powers

(3] within the Fundamental Rights (4) within the Fundamental Duties
A Al (wferoedte) @ sRoma 2

(1} ofs & srwia (2) ufe & 9t

(3) @ AREd *- st (4} Wenvm Fdet F st

Which of the following is not the funetion of the International Court of Juatice?
(1) Advisory opinion at the request of General Assembly
(2) Advisory opinion at the request of Security Council

(3) Interpretation of treatica when T :
o ca considering legal disputes brought before it by

(4) Deciding intetnational crimes

38
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st ey & B § @ de-m e R

(1) wEmw & wadw w e ol ¥

(2) gon g % AV w Adwgd w3

(3] A0 g =R T T it fAae w few & wm dfiat 6 sren =\
&) srmid IR W P

110. Which of the following is not an intellectual property?

(1} Patenta (2) Copyrights
(3) Trademark (4) Property of an intellectual
Afofr % @ ¥R @ s v W A2
() ¥ {2) wifme
(3) Yok ‘ (4) T izt # ety
111. Fiduciary relationsahip is relationship based on
(1) comtract {2) trust
(3) bloed relationship {4) moncy

=i ww fee w sf@ B k7

(1) AN (2) fram (3) TH-TWA 4) A
113. Which of the following is not a Fundamental Right guarantced under the t?onatitution
of India?
{1) Right to Work (2) Right to Life
(3) Freedom of Speech (4) Right to Equality
mmtmﬁniﬂﬁmeﬂﬂﬁﬂﬂﬁmiﬁﬂt?
(1) w W HfER 2) WA g Al
(3) - (4} LI W
(184) 39 P.7.0)
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Directions :  (Question No. 113-120) Following twenty questions consiats of legal principles
and facts. These principles have to be applied to the given facts to arrive at the
most reasonable conclusion. Such prinq:ip;!:a may or may not be true in the real
sense, yet you have to conclusively asaume them to be true.

fadm (m#wna-mo)ﬁqﬁlmaMMﬁﬂﬁmﬁzﬁﬁq&Mwmmuﬂm
3w e o F R Rrgral 1 wew a3 wer v w0 412 g ande e A
TR W e Ay E, W XA I T e waar d fR Y wl f

abstinence, he is said to make a proposal. The expression of willingn i
X bR - ess results in
valid proposal enly when it js made/addressed to some persons). “

Facts : A makes the followd ta i *1wi
g owing statement in an empty hall, *1 wish to sell my laptop for

Which of the following derivations is correct?
(1] A made a statement that resulted in a promise
(2} A made a statement that resulted in a proposal
[3) A made a statement that did not result in any proposal

(4} A made a statement that resulted in an agréeement

?ﬁ:ﬁ@ﬂﬁﬁ@iﬂ%ﬁﬂﬁ@ﬂmtﬁqﬁzﬂm%mm
qﬁiﬁmwmmt,a};ﬂmmmm%rmﬁuﬁmﬁsmau
mwmﬂ?ﬁt.mﬁ:ﬁwmﬁslﬁﬁsﬂtmwmwtl

T AT aell o ¥ oag awen T, ‘4 s dwein 9 10,000 %o ¥ = s &
Prefofler & 3 - safa an &7

(1) A3 w v B, Ped o @ = & @ fom
(2) A3 Iv R, et o v W w9 A B
(3} A#mmﬁm,mm:mwmmmﬁm
(4) Aimmﬂm,ﬁaﬁmagiummam

{184 40
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114. Principle : Minor's agroement is void from the very heg;mmn.g It can never be validated.
it cannot be exiforced in the court of law.

Facte : X, a girl of 16 years of age, agrees to buy a mobile phone from Y, who ie a girl of
21 yeary of age.

Which of the following derivations is correct?
(1} There arises a contract between X and Y to sell/buy the mobile phone in queation

(2} There ariees an enforceable agreement between X and ¥ to sell/buy the mobile
phane in question

(3} There does not arise any contract between X and Y to sell/buy the mobile phone in
fraestion

(4} There arises a voidable contract between X and Y to scll/buy the mobile phone in
question

fagra : vawes W SIRY WRY @ @ Sl dm b W &R 0w W o awm @
rers i wafdw fen @ dwa A dnl

16T A N rEh X 21 W H oy A @ R Y I @ e wA e W
apm

frafefi X & FA-A ol 7@ 27
{1]mxmvtmmmm#ﬁmfmwmnaﬁaim
(2) o X @Y v I e B % /R W aneed e afave 3 s
(3 W X @Y ¥ wa 36 A o & R/ W B o iR d @ e
4] =l X T Y & wea 3w dwwe O ¥ fR/sa W ot gy ofde 3 am

118. Principle : Agreements in restraint of marriage are void.

Pacta : X enters into an agreement with Y whereunder he agrees not to marry anybody
elsc other than a person whose name starts with the letter and promises to pay
Rs 1,00,000 to Y if he (X) breaks this agreement.

Which of the foliowing derivations is correct?
(1) There is a contract between X and Y
{2) There is an agreement between X and ¥ which can be enforced by the Court of Law

(3} Therc is an agreement between X mrmmmwmmmu
Law

(4) Therc is a voidable contract between x and ¥

(184) 41 P.T.0.)
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figm : e & smtas wgEg ke B
T XY % WY ok Sgen wor 8, frad
ﬁﬁmmtmwmmgm,m::m-:;?ﬁtﬁgnﬁg
1,00,000 % 3} %I ‘agr #em }, R 9% v@ WIWT | PR W= R

Freafuftre & 8 ¥9-d sqefo ot 47
(1 X @ Y & v @& ey R
(2) X W Y ¥ 7 @& wga 2, AR ummel ovr vRa 3R % e wmer fem e 2
B X @Y % 7= v w7y R, R e g vt 3 % Ry amor @ R s ww

4 X WY ¥ 7w u YAy shEe

116. Principle d A person has no legal remedy for an injury caused by an act to which he has
consented.

Facts : X, a cricil:et _fan, purchases a ticket to watch an IPL match. During the match, a
ball utru:r:k for six hits X on his body and ihjures him. He sues IPL for compensation for
the medical expenses.

Which of the following derivations is correct?

1) X shmflc% be compensated as he purchased the ticket to get entertainment and not
to get 1njured

(2] X would be fail in his action, as he voluntarily exposed himself to the risk

(3] IPL would be liable as it did not ensure that the apectat
risk of such injuries peclators were protected from the

(4} None of the above
m:ﬂm&#wﬁmaﬁaﬁimmwﬁs%
sl b fore wEh TR s T 2, Rt

T s X, W G, w aeflorie f% @ 33 ¥ fg Bmz @t ) 4 &
mmmmﬁ&mﬁxﬁaa oo l mﬁ
58, ﬁmwmhﬂmﬁmalnmﬂmn*ﬁmﬂﬁm

e & & Wa-d e vl 47

(4) 0w & & ¥ T

(184) 42
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17.- Principle : An employer is liabie for the negligence of his employee. But an employer is
1]1‘r | m“b:m he gﬁmm of his employee if the victim of auch negligence is one of his
other employees, :

Wtﬂ : A and B were working in a factory aannah'llpd labourers. A was CArTying a
baaket of atonics on his head. B was sitting on the ground. When 1} m'c‘raaed B all of a
sudden a stone fell down from the basket and hit B on his head. B died unmcc!mtely.

(1) The owner of the factory will be Lable

{2) A and the owner of the factory shall be joistly liable

(3) The owner of the factory will not be liable

(4) None of the above |
ﬁzn:mﬁﬂmmﬁﬁmﬁﬁmﬂtfmmmméﬁﬁﬂiﬁmm

Mﬁmﬂ%mWﬁﬂimwﬂM,mﬁSHMmMMﬂ
% FRi 0 -

7 M R W =t w®
:Auﬁmmiwmﬁ%mimmﬂiin
::ilmammmm,Bm«immﬂa,sasm%m,zﬁﬁﬁﬂmwm
o, R B & Rk wm B I@ @ W Wi

(1} wan = @ e &

(2) A v wRER T w@Eh G W A e
@) *wEd = = Ieeed Tl B

@ IWE ¥ 3§ wf

i jshable by the Indian Penal
. inle : Whoever attempts to commit an offence p'l.uuaha
He- ﬁﬂc& in such attempt does any act towards the wmml&+ sion of the offence, shall be
punished. Stealing is an offénce punishable by the Indian Penal Code,

Facts : A makes an attempt 10 steal some jewels by breaking open a box, and after so
opening the box, finds that therc ia no jewel in it.

{1} A has committed no offence

'@) A has committed the offence of stealing

(3] A has attempted to commit the offence of stealing
{(4) None of the above

¥,
[134, 43
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T A TS T A AR F9 Ingm M0 T T ovaw waw ), = dew |
Ay e @ oIt e @ £ A -

(1) A3 2 soou 3@ B0 2

(2) A3 30 v = somm fem b

3) A3 D T T A T TA W v R
(4) IR F } A G

119. Principle : Where two or more '
. W persons have made a complaint for the
compitlsory licence to the Copyright Board, the licence shall be granted E::n Eh:f

complanant only who, in the opinion of ;
interests of the general public. BHOm jof ke COPY“BJ"t Board, would best serve the

Facta : Four persons mad '
St o ¢ & complaint {or the grant of compulsory licence to the

{1} Licence shall be granted to only one complainant
(2] Licence may be granted to two complainants
(3) Licence may be granted to three complaintants

(4] Licence must be granted to al) the four complainants

m:mmﬁﬂmﬁ%mwm%m%ﬁmi
(1} mmﬁw%mmﬂfﬂhm

(2) Hwﬂmﬂﬁamaﬁa&my«ﬁmimmt

(3) mﬂwvﬂwﬁﬂszaﬁa%ﬂgahmmt

(4) H@mmmﬁﬁ&ﬂﬂiﬁﬁmﬁﬁ'ﬂmﬁmm

(184)
44
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12Q. Principle : Only Parliament or State Legisiaturos haya the authority to mac_t laws on
their own, No law made by the State can take away a person’s Fundamental Right.

Pacty : Parkiament enacted & law, which according to & group of lawyera is viclating the
Pundamental Rights of traders. A group of lawyers files a writ petition challenging the
constitutional validity of the statute seeking relief to quash the statute and further
direct Parliament to enact a new law.

{1) No writ would lie against Parliament, as the Coutt has no authority to direct
Parliament to enact or re-enact a law

(2] The Court can quash exsting law if it violates Fundamental Rights and can direct
Parliament to make a new law

3} The Court can quash the existing law 1f it violatea Pundamental Rights but cannot
direct Parliament to make a new law

(4) None of these

m:iﬁammmﬂﬁmﬁﬂ(ﬁmwmmmmmfﬁimﬁﬁ
wA Rl wfs ¥y ARl B B Tl T

m;mzimwmm,ﬁﬁaﬂaﬁ%mmﬁmﬁm%wm
% T5T W@ W TR ¥ T WYy X 0 ffea afee SRR W@ 38 st A e W
mﬁwﬁﬁmmﬁmwmwmﬁmﬁh%iﬂmﬂu

(1} dm % Py B oive o wqu @ o w, w6 B R TR B A Q) FE R
a0 R 7w A = Al R} W At T R

(2] ﬂimﬂwﬁmumt,ﬂﬁﬂwmﬁwzﬁmmﬁﬁmﬁ
™ T wEE R = A wh = ¥

[3}ﬁimwﬂmmmt,ﬁﬂwmma§mm&aﬁam
R 7 HF 9w e T ] ww
@) W & W T8

(184} 45 fP.T.0}
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Directions : b(?;esﬁnn No. 1233=-180} Select the beat option from the four alternatives given
P .

dm : (7€ w5 121-160) iR fag 7 9w fwedt § ¥ Wl fwsen =1 =)

121. Narendra Modi took oath as Prnme Minister of India on 26th May, 2014.

(1) 15th (2) l4th (3) 12th (4] 13th
T3 NG A 26 wE, 2014 B KA ¥ —— yuwd © wmy o
(1) 154 (2) 144 3) 14 (4 133

1323. 'WPD is userd as an acronym for

(1) World Price Index (2) Wholesale Price Indicators

[3) Wholesale Price index (4) Waorld Price Indicators
‘WPI" &1 v iy f @ frad oiaefl 2 ¥ w9 o farm Qe &7

(1} 3% wem 3w (2) VR weR $faded

(3) Bl v R (4) ¢ e ki

123. Company showing apparent concern on envir
g onment by fake method
appear as cnvironment friendly organizations is ca]]edy e.:th $.and shortcuts to

(1] green lighting ' {(2) moon lighting
(3) green washing {4) rainbow warrigr

WAl alibl w SER a3 T Rtk o
e ot 2 o B @ wio-fa de 2 = Raw =

(1) ¥ emgfen (2 T wmfn @) A i (4) Tt

(184) 46

L]
gcollegedunlae
India’s largest Student Review Platform

T



14U/ 117/27/Set No. |

124, The largest gland in the human body is
(1) liver (2) pancreas (3) thyroid (4) endocrine
wra w3 B § @ - ify v W R
(1 =73 (2) sFEAN (3) wes (4) TR
128. Who among the following proposed the concept of Earth Hour?
(1} Jim O'Neil (2) Theodore Levitt
(3) Baruch Blumbers (4) Andy Ridley
Sfafa # @ R ‘ad s A saren W vEE e a?
(1) fm Aha (2) fwidR Afe (3) A e (4) @ h=d

126. Telangana is India's
(1) 29th State {2} 28th State (3) 30th Siate {4) 27th State
s VI W

o %

(1) 294t () 2sat 3y 304t ) 27

$27. Election to the Lok Sabha have been held so for
{1) 16 times (2) 15 times (3) 14 times (4) 13 times
s T Wean # Paie faed )R 9w A2
(1) 16 WR (2) 15 "R {3) 14 ¥R 4 13 W»

128. Name of the scientist who received ‘Bharat Ratna’ along with Sachin Tendulkar in 2014
is

{1) C. V. Raman (2} M. Vievesvaraya
(3) A. P. J. Abdul Kalam {4 C.N R Rao
(184) 47 (P.T.0.)
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T 2014 ¥ 3Re e & W v @ R IR A T R e Al s 27
{1) we dto T (2} e farwlt
(3) Yo Bo Fo =W FaW (4) Wo Woe e W

139. The Principal Bench of the Central Adminiatrative Tribunal is at

{1} New Delhi (2) Kolkata (3) Mumbai (4) Chenuat
A WP avpw f gor G =t smfem 22
(1) +% = (2) e (3) 7wt (4) =

130. Who is the author of Great Expectations ?

(1) Charles Dickens {2) Oscar Wilde
(3) H. G. Wells 4} Mark Twain
Great Expectations % ohgs 9 37

(1) o g (2) few 9z
(3) o e dmm 4) 3% 2y

131, Which country is not a member of SAARC 7

1] Indi '
(1) India (2) Pakistan {3) Myanmar (4) Bangladesh

w1 30 A w w6 A7

(1} wma (2) TRRam (3) xR (4) Wy

(184 48
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132. What is the currency of Afghanistan?

{1) Rupee (2) Dirham (3) Peso (4) Alghani
spTvas & g e %} 39
(1) ¥ (2) troem (3 v (@) FETH

133. Malavath Poorna has become the youngest Indian woman to scale Mount Everest at the
age of 13 ycars, She belongs to the State of

(1) Maharashtra (2) Uttar Pradesh (3} Sikkim (4) Bihar

w13 W B o ¥ v @R ¥ e @ oonigw oSt s W oamy R
wrdra afen A =% wea: few oo & Fawft 7

(1) wEwg (2) IW MW (3) fefem (4) Tt

134, The Rajiv Gandhi Khel Ratna Award, 2013 was conferred on
(1) Sachin Tendulkar (2) Virat Kohli
(3] Saina Nehwal (4) Ranjan Sodhi
wha i @9 T qoaR, 2013 @ fld wenfe R T
(h ofm dgew () B Rl @ ¥ Y (4) o

138. Ban ki-moon, the present Secretary-General of UNO bhelongs to

(1) Auatria (2) China
(3) Japan (4) Republic of Korea
i T & T, W R 0 W@ T
(1) SR (2) ¥ (3) WNR (4) e TN
{184) 49 {P.1.0}
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136. Who ias the Army Chief of India?
(1) D. 8. Suhag (2) V. K. Singh - (3) Bikram Singh (4) Deepak Kapoor
YRa & Ve B £

{1} B @ gam (2 Mo ¥o fix (3) fwm fie (4} dv% W

137. Who developed the concept of ‘World Wide Web' ?

(1) Tim Bemers Lee (2) Arthur Clarke
(3} AT and T Bell Lab [4) Microsoft
ﬁm_h‘ﬁmwﬂmmﬁmﬁﬁmm?

(1) fon wid & (2) I wemk

3) v A I &n (4) wgERTR

138. India won

in Uber Cup, 2014,

(1) bronze medal {2) silver medal

(3] gold medal (4) None of the above

rd X 3T WY, 2014 F I

(1) ¥RI % (2} ™A % B v ww () R % @

139. Blood groupe were discovered by

. (1) Aleman (2) Landstziner {3) Loach (4) Ronald Ross
w-aE H D9 R By |
(1) weels (2) A (3) <t 4) i dw
(184 50
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140, An Indian-bormn, naturalized American cngincer who was appointed as CEQ of
Microsoft, Corporation on 4th February, 2014 is

tya am
(1) Satya Nadella (2) Vikram Pandi
(3) Indra Nooyi (4) Nandan Nilekani

wfia @ & omlR amfeem R Wi, R 4 vl 2014 B TR Wt W
Wefoaits figw fom wa w, Frg ¥ & B3 @7

(1} ¥ MFH (2) fawwm qift (3) v (4) a5 Fmr

141. Super Nova is

(1) a comet - (2) an asteroid

[;'i] an exploding star {4) a blackhole

AT =

{1) qwg ) 4@ T (B s s (4) =R

142. Which of the following rivers does not originate in India?

(1} Beas (2} Chenab (3) Rawni (4] Sutlej
fr & A WR-h ) 9w @ @ P X7
(1) == (2) fom 3 wh (4) woea

143. Name of the Pakiatan Prime Minister who signed the Lahore Declaration in 1999 in
{1) Ayub Khan (2) Yahya Khan (3) Z. A. Bhutto (4] Nawaz Sharif
¥ 1999 § wliy dhvom W TRIER ¥ I@ TR ¥ TaEefl % W T e

(1) AR oW (2) W WW (3) N Y B (4) = Tl

(184) 51 *90,)
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144, Which one of the following began with Dandi March?

{1] Home Rule Movement (2) Non-Cooperation Movement
{3] Civil Disobedience Movement (4) Quit India Movement
P i @ R eom st ok & wm g 02
(1) $vea JEred (2) STERAM e
(3) aRm FEw =eA M) W AP WRER
148. National Consumer Rights Day is observed in India on
(1) December 24 {2) September 25
(3) October 25 (4 November 25
e % mhe vt afteeR Rae s amn 47
(1) 24 R (2) 25 frar - (3) 25 IWW {4) 25 ¥R

146. Which of the following pairs is not carrectly matched?

Dam Lake River
{1) Govind Sagar Sutlej
(2) Kollesu Lake Pentier
(3) Ukai Reaervoir Tapi
[4) Wular Lake Jhelum
ﬁﬂl‘i%m—mwaﬁiﬂﬂ‘@‘%ﬂﬂﬂt?

*u W7 D
(2) w1y Wa ¥R
(3) ¥ w@Pm and
4] TR T oG]

(184) 52
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Who has been: appointed aa the permanent representative of India te United Nationa?

(1) Hardeep Puri - (2) Kamlesh Sharma

(3} Salil Shetty (4) Ashok Kumar Mukherjee
YRE & WYw Tyeu fm wedt 3RAR ¥ w3 A Age fen o 87

(1) wém g (2) =

(3) wiva It (4] *E FR gelt

Rivers that paes through Himachal Pradesh are

(1) only Beas and Chenab

{2) only Beas and Ravi-

(3) only Chenab, Ravi and Sutlej

(4) Beas, Chenab, Ravi, Sutlej and Yamuna
fomeer S2m & wd arh el &

(1) %39 =@ @@ faam

(2) %@ W @ T

(3) ¥ R, v v o

(4) =, foam, odl, seem @ T

King Cobra is the only snake that makes its own necst. It makes its nest because
{1} it is a anake-cater and the nest helps attract other snakes
(2) it is & viviparous snake and needs a nest to give birth to ita offspringe

(3) it is an oviparous anake and lays its eggs in the neat and guards the nest until they
are hatched

(4} itis alarge, cold blooded animal and needs a neat to hibemate in the cold ecason
53 P.7T.0)
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h‘ﬁmﬂmﬁmmt,ﬁaﬁMHﬁnﬁnﬁmhnmﬁﬂhﬂmﬁm
wfem & 3, =i

(1) w5 aln # @ w9 & ol e oF widt it awfle w=a R

(2 wmmmtmmmﬁﬁmﬁ#mmﬂﬁﬂmmt
(3) 7% ok sisw afd R sl v # o2 ¥m maw iR A WM P T T W L

(4] T wal, 3} T an woht & aw via wg § Wefn ¥ R o G B vew ot @

160. Hydrogen fuel cell vehicles produce one of the following as ‘exhaust’
TR ¥ } wftm Al A ‘g’ % w0 Pofofm § & = Renfsa gm d?

(1) NH, (2) CH, (3) HaO. 4] H;0;

Wik
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